Solving Systems of Equations Using Inverse Matrices Practice

Directions: Write each system as a matrix equation AX = B and solve using inverse Matrices. Show steps. You can use a Calculator for problems 5 & 6 to find inverses and multiply.  (Remember: prior to writing the matrix equation align like variables on left side, constants on the right.)
[image: ]














[bookmark: _GoBack]

This is not one of our standards….but if you get bored, teach yourself how to solve by Gauss-Jordan elimination
Page 369 Example 5. (From 2nd Period’s Pre-Calc Book)
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. 5x=-3y-31

y=—4x-22
L 120 =21 - 3y
2y=6x+7

. —3x+y+62=15
2c+2y—52=9
4x =5y +2z=-3

. 3x+9y —62=17
22—y +2A4z=12
2¢ — 5y + 12z = —30
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Solve the system of equations.
F—y+z=0
—x+2y-3z
2x-3y+52=8

Write the augmented matrix. Apply clementary row operations to obtain a reduced row-echelon
form.
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The solution of the system is x = ~2,y =1, and z = 3 or the ordered triple (~2, 1, 3). Check this
solution in the original system of equations.





